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Seating Arrangement for SBI Clerk PO Mains 2025 
 

Directions (1-4): Read the given information carefully and answer the questions based on it: 

A certain number of persons sit in a row facing north. The known persons like different colors. On 

counting from left, the persons at even positions are managers and the persons at odd positions are 

associates.  

Four persons are in between A and the one who likes red. G sits third to the left of A. The one who likes 

blue sits exactly between G and the one who likes red. Four persons are in between C and the one who 

likes blue. The one who likes pink sits immediate right of C. D sits three persons sit to the right of the 

one who likes pink. The number of persons sit to the right of D is equal to the square root of the number 

of persons sit between D and the one who likes red. T sits sixth to the left of H who sits adjacent to C. H 

likes pink and sits immediate right of the one who likes yellow. No one sits to the left of B who sits 

adjacent to T. The one who likes black sits fourth from right end. The one who likes grey sits second to 

the right of B and third to the left of the one who likes white.  

 

Q1. How many associates sit to the right of the one who likes white? 

(a) Three 

(b) Four 

(c) Five 

(d) Six 

(e) More than six 

 

Q2. What is the position of C with respect to the one who likes grey? 

(a) 5th to the right  

(b) 7th to the right  

(c) 8th to the left 

(d) Immediate right  

(e) 4th to the right   

 

Q3. Which of the following statement is correct? 

I. The one who sits 7th to the right of B is manager. 

II. Four associates sit between B and the one who likes black.  

III. H is manager and sits second to the right of A 

(a) Only II 

(b) Only III 

(c) Only I and II 

(d) Only I and III 

(e) All I, II and III 

 

Q4. Choose the incorrect combination. 

(a) G – grey - associate 

(b) D – black - associate 

(c) A – white - manager 

(d) T – blue - manager 

(e) B – yellow - associate 
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Directions (5-8): Read the following information carefully and answer the following 

Eight persons—A, B, C, D, E, F, G and H—are sitting in a circular arrangement, all facing the center. Each 

of them has a unique card number ranging from 2 to 9. Each person holds a distinct card number ranging 

from 2 to 9. 

Note: The difference between the card numbers of persons sitting adjacent to each other is more than 

1. 

C sits sixth to the right of the person whose card number is a prime number. Two persons sit between 

the person who sits second to the right of C and G. The person whose card number is a multiple of 5 is 

an immediate neighbour of G. F sits third to the right of the person whose card number is a multiple of 

5. The person who sits opposite to the person whose card number is 5 has card number which is two 

less than card number G. The person whose card number is 8 sits second to the left of F. One person sits 

between the person who has 6 card number and H. A is an immediate neighbour of the person who has 

card number 6 and has card number that is a multiple of 3. Card number of B is not 2, 5 and 8. The 

person who sits second to the left of A has card number 4. The difference between card number of C 

and A is equal to card number of B. D is an immediate neighbour of the person who has card number 3. 

D is not an immediate neighbour of A and H. D doesn’t sit opposite to H and F. E is an immediate 

neighbour of G. 

 

Q5. Who among the following person sits fourth to the right of the person who has card number 

4? 

(a) H 

(b) B 

(c) The person who has card number 5 

(d) D 

(e) None of these 

 

Q6. What is the sum of the card numbers of C, G and H? 

(a) 25 

(b) 20 

(c) 23 

(d) 21 

(e) None of these 

 

Q7. How many persons sit between the person who has card number 9 and E when counting in 

the anti-clockwise direction from E? 

(a) Three 

(b) Four 

(c) Five 

(d) One 

(e) Two 
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Q8. Which of the following pairs are adjacent and have card numbers differing less than 4? 

(a) A and B 

(b) E and G 

(c) C and D 

(d) H and A 

(e) None of these 

 

Directions (9-13): Study the following information carefully and answer the questions 

given below. 

Fourteen persons B, C, D, E, F, G, H, I, J, K, L, M, N and O sit around two tables—one circular (referred to 

as a rope-shaped table) inscribed within a square-shaped table. Four persons sit at the corners of the 

square table, while four sit in the middle of the sides. The persons who sit at corners face inside and the 

persons who sit on the middle of the sides of table face outside. Six persons sit at the circular rope-

shaped table at a distance of multiples of 3 between them consecutively such as 3m, 6m, 9m and so on. 

The persons who sit on the circular rope shaped table face inside. 

F sits 9m to the left of J in a circular shaped table. There is distance of 27m between J and G when 

counting from one of the sides from J. O sits third to the right of I. Two persons sit between O and N. L 

sits immediately to the right of C. N doesn’t sit on the middle of the sides of the table. G is an immediate 

neighbour M. There is a distance of 42m between G and B. There is a distance of more than 12m between 

B and R when counting from both sides of B. There is a distance of more than 15m between R and G 

when counting from both sides of R. H sits third to the left of D. E sits third to the left of L. D is not an 

immediate neighbour of O. 

 

Q9. What is the position of D with respect of C? 

(a) Fifth to the left 

(b) Fifth to the right 

(c) Sixth to the right 

(d) Sixth to the left 

(e) Second to the right 

 

Q10. If E and R interchanged their places then who sits 45m away from E when counting from 

one of the sides from E? 

(a) B  

(b) F 

(c) H 

(d) R 

(e) M 

 

Q11. Which of the following pairs of persons are immediate neighbors? 

(a) E and O 

(b) R and G 

(c) F and J 

(d) B and M 

(e) J and B 
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Q12. Four of the following five form a group based on their seating arrangement. Which one does 

not belong to this group? 

(a) B 

(b) O 

(c) I 

(d) N 

(e) C 

 

Q13. Which of the following statements is true? 

I. F sits at a distance of 9m from M when counting right of M. 

II. L sits at one of the corners of the square-shaped table. 

III. Four persons sit between H and C when counting from left of C. 

(a) Only I 

(b) Both I and II 

(c) Both II and III 

(d) Only III 

(e) Only II 

 

Directions (14-18): Read the given information carefully and answer the questions based on it: 

A certain number of persons are seated in a row facing north. Some of the persons like different colours. 

The total number of persons in the row is four times the number of persons sitting to the right of the 

one who likes white. The person who likes blue sits second to the left of N who sits 3rd to the right of the 

one who likes red. Two persons sit between O and M who sits sixth to the right of N. The person who 

likes brown sits exactly between P and Q who is adjacent to O. Four persons sit between R and S. O sits 

third from one end and is two places to the left of the one who likes purple. The one who likes orange 

sits second from the right end. Two persons sit between O and the one who likes brown. The one who 

likes green sits exactly between P and S. The one who likes white sits immediate right of M. The one 

who likes grey sits third to the left of T who sits third to the left of the one who likes purple. Neither N 

nor immediate neighbour of N likes green.  

 

Q14. Who sits second to the left of the one who sits 3rd to the right of S? 

(a) The person who likes blue 

(b) The person who likes grey 

(c) O 

(d) The person who likes white 

(e) R 

 

Q15. How many persons are seated to the left of M? 

(a) 14 

(b) 15 

(c) 13 

(d) 10 

(e) 12 
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Q16. Which colour does the person who sits immediate left of R likes? 

(a) Green 

(b) Grey 

(c) Purple 

(d) Orange 

(e) Blue 

 

Q17. Four of the following five are alike in a certain way and hence form a group. Which of the 

following does not belong to that group?  

(a) Q, M 

(b) R, P 

(c) S, The one who likes white 

(d) O, M 

(e) T, The one who likes grey 

 

Q18. How many persons sit between O and the person who likes blue? 

(a) 11 

(b) 12 

(c) 10 

(d) 9 

(e) 14 

 

Directions (19-21): Study the following information carefully and answer the given questions 

below: 

Eight persons sit in two parallel rows – A, B, C and D sit in Row-1 and face north while P, Q, R and S sit 

in row 2 and face south, but not necessarily in same order. Each person has a different number of 

chocolates with them. The sum of total number of chocolates in row 1 is 139 and the sum of total 

number of chocolates in row 2 is 136.  

The person who sits opposite to B sits second to the right of the person who has 22 chocolates. Only 

one person sits between the one who has 16 chocolates and B. S is immediate neighbour of the one who 

has 22 chocolates. S sits second to the left of R who sits opposite to the one who has 64 Chocolates. One 

of the immediate neighbours of R has 29 chocolates. The sum of number of chocolates Q and R have is 

70. The one who sits immediately to the right of B has 34 chocolates. B doesn’t sit opposite to Q. More 

than one person sits between D and A. D doesn’t sit opposite to Q. 

 

Q19. Four of the following five are alike in a certain way and form a group. Which of the 

following does not belong to the group? 

(a) Q 

(b) B 

(c) R 

(d) C 

(e) A 
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Q20. What is the sum of the number of chocolates S, B and C have? 
(a) 86 
(b) 91 
(c) 98 
(d) 81 
(e) 96 
 
Q21. If R is related to B and in the same way S is related to A then who among the following is 
related to C? 
(a) D 
(b) Q 
(c) P 
(d) The one who has 16 chocolates 
(e) The one who has 37 chocolates 
 
Directions (22-25): Study the following information carefully and answer the questions. 
A certain number of persons sit in a row and face north. F sits fourth to the right of C. Two persons sit 
between F and K. The number of persons sit between H and F is thrice the number of persons sit 
between K and E. Five persons sit between C and H and H doesn’t sit to the right of F. E doesn’t sit to the 
left of F. Two persons sit between R and M who sits second from one of the extreme ends of the row. O 
sits sixth to the right of K. More than three persons sit between K and B. B sits exactly between H and C. 
R sits immediately to the right of E. As many persons sit to the right of E as to the left of B. 
 
Q22. Who among the following sits sixth to the right of the person who sits tenth to the right of 
B? 
(a) R 
(b) M 
(c) K 
(d) O 
(e) None of these 
 
Q23. How many persons sit between E and H? 
(a) Nineteen 
(b) Twelve 
(c) As many persons sit between C and M 
(d) As many persons sit between B and K 
(e) Sixteen 
 
Q24. What is the difference between total numbers of persons 
sit in this row and total number of persons sit between F and 
E? 
(a) 18 
(b) 19 
(c) 25 
(d) 20 
(e) None of these 
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Q25. Which of the following statements is/are true? 

I. E sits exactly between K and M 

II. Ten persons sit between C and O. 

III. B sits eight to the left of K. 

(a) Only I 

(b) Only II 

(c) Only III 

(d) Both II and III 

(e) Both I and III 

 

Directions (26-30): Study the following information carefully and answer the questions. 

Six persons — A, B, C, D, E, and F — are seated in a circular arrangement and face inside. Each of them 

has a pet: Dog, Cat, Rabbit, Fish, Turtle, and Parrot. All the information is not necessarily in the same 

order. 

Only one person sits between the person who has Parrot and D. The person who has Fish is one place 

away from D. B sits second to the left of the person who has Fish. The person who has Cat sits second to 

the right of the person who has Fish. E and F doesn’t have a Parrot. The number of persons sits between 

B and D is same as the number of persons sit between the person who has Cat and E. The person who 

has turtle sits second to the right F. The person who has Dog sits second to the right of the person who 

has Parrot. The persons who have Dog and Cat are not immediate neighbours. C doesn’t have a fish. E 

doesn’t have a Rabbit 

 

Q26. What is the position of the person who has Rabbit with respect to A? 

(a) Fifth to the right 

(b) Fifth to the left 

(c) Immediate left 

(d) Fourth to the right 

(e) Fourth to the left 

 

Q27. Which among the following pair of persons sit opposite to each other?  

(a) The person who has Fish and F 

(b) The person who has Turtle and E 

(c) D and F 

(d) The persons who have Dog and Cat 

(e) None of these 

 

Q28. How many persons sit between B and the Dog owner when counted anti-clockwise from B? 

(a) One 

(b) Two 

(c) Three 

(d) Four 

(e) None 
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Q29. Who among the following person sits fourth to left of the person who sits immediately to 
the right of F? 
(a) The person who has Parrot  
(b) The person who has Fish  
(c) A 
(d) E 
(e) None of these 
 
Q30. If all the person sits according to alphabetical order from A in anti – clockwise direction 
then position of how many persons remains unchanged (excluding A)? 
(a) Two 
(b) Three 
(c) Four 
(d) Five 
(e) None 
 
Directions (31-35): Study the following information carefully to answer the given questions: 
Nine friends A, B, C, D, E, F, G, H and I sit in a straight row, but not necessarily in the same order. Some 
of them face North and some of them face South. D sits fourth to the right of C. A sits exactly between H 
and G who sits second to the left of E. D sits immediately to the left of E. Both C and E doesn’t sit at the 
extreme ends of the row. I sits immediately to the right of G. D sits third to the right of B and both of 
them face the same direction. C and B are not immediate neighbours. H sits at one of the extreme ends. 
F and G face the same direction but opposite to A. The persons who sit at extreme ends face the same 
direction. Less than two persons sit between A and H. A and I face the opposite direction. H doesn’t face 
north.  
 
Q31. Who among the following sits third to the right of the person who sits immediately to the 
right of B? 
(a) A 
(b) G 
(c) I 
(d) D 
(e) C 
 
Q32. How many persons who face south, sit between E and H? 
(a) One 
(b) Two 
(c) Three 
(d) Four 
(e) Five 
 
Q33. Four of the following five are similar in a certain manner and form a group. Which one does 
not belong to the group? 
(a) A and G 
(b) D and E 
(c) B and A 
(d) F and H 
(e) D and C 
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Q34. If I and E interchange their positions, then who sits fifth to the left of E? 

(a) C 

(b) F 

(c) D 

(d) A 

(e) B 

 

Q35. What is the position of the person who sits sixth to the right of F with respect to B? 

(a) Fifth to the left 

(b) Seventh to the left 

(c) Seventh to the right 

(d) Fifth to the right 

(e) None of these 

 

Directions (36-40): Study the following arrangement carefully and answer the questions given 

below: 

Eight persons - A, B, C, D, E, F, G and H - sit around a square-shaped table. Four persons sit at the corners 

face inside and the remaining four persons sit in the middle of the sides face outside. Each of the person 

who sits at the corners has a different favourite flower: Lily, Rose, Tulip, and Carnation. Each of the 

person who sits at the middle of the sides of the table has a different favourite fruit: Mango, Banana, 

Apple and Guava. All the information is not necessarily in the same order.  

H doesn’t sits at corners. G sits third to the left of C. One person sits between the one who likes Guava 

and C. The one who likes Guava sits immediately to the right of A. B sits opposite to G. The one who likes 

Carnation sits second to the right of A. E sits third to the left of the one who likes Rose. Two persons sit 

between the ones who likes Banana and Carnation. A is not an immediate neighbour of the one who 

likes Banana. The one who likes Banana sits opposite to E. Two persons sits between the ones who like 

Rose and Apple. D sits third to the right of the one who likes Apple. G doesn’t like lily. H doesn’t like 

Banana and Mango. 

 

Q36. Who among the following persons sits opposite to the person who likes Apple? 

(a) The one who likes Guava 

(b) The one who likes Mango 

(c) F 

(d) D 

(e) None of these 

 

Q37. Which of the following statement is correct? 

(a) Three persons sit between the ones who like carnation and Mango. 

(b) D is not an immediate neighour of the one who likes Banana. 

(c) The one who likes Lily sits fourth to the right of C. 

(d) E and G are immediate neighbours 

(e) D face inside. 
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Q38. Who among the following persons sits fifth to the left of D? 
(a) C 
(b) The one who likes Mango 
(c) The one who sits second to the right of the one who likes Guava. 
(d) The one who likes Tulip 
(e) None of these 
 
Q39. Four of the following five are in the same group, who among the following does not belong 
to that group? 
(a) H 
(b) G 
(c) F 
(d) E 
(e) C 
 
Q40. What is the position of the person who likes Carnation with respect to the person who likes 
Mango? 
(a) Immediate left 
(b) Sixth to the left 
(c) Fifth to the right 
(d) Seventh to the left 
(e) Seventh to the right 
 
Directions (41-44): Study the following information carefully and answer the questions given 
below: 
A certain number of persons are seated in a row facing north and they are from different cities. E sits 
sixth to the right of the person who is from Pune. Two persons sit between the ones who are from 
Mumbai and Kanpur. The one who is from Kanpur sits immediately to the right of S. Two persons sit 
between the one who is from Kanpur and E. W sits fourth from left of S. Three persons sits between P 
and W who is from Delhi. P sits third from one of the ends. Q is from Lucknow. The number of persons 
sit between P and E is same as the number of persons sit between the ones who are from Mumbai and 
Lucknow. The one who is from Lucknow sits to the right of the one who is from Mumbai. Q sits third to 
the left of V who sits at one of the extreme ends. The one who sits immediate left of O is from Kolkata. 
O sits third to the left of Q and is from Kanpur. The one who sits sixth to the right of O is from Banaras. 
 
Q41. Which of the following combination is correct? 
(a) S - Mumbai 
(b) S - Pune 
(c) V - Banaras 
(d) E - Pune 
(e) E - Banaras 
 
Q42. How many persons sit in this row? 
(a) 20 
(b) 25 
(c) 18 
(d) 19 
(e) None of these 
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Q43. What is the position of E with respect to the person from Banaras? 
(a) Ninth to the right 
(b) Eighth to the left 
(c) Thirteenth to the left 
(d) Ninth to the left 
(e) Tenth to the left 
 
Q44. Which of the following statements is/are false? 
I. O sits to the right of V 
II. Three persons sit between E and S. 
III. P is not from Pune 
(a) Only I 
(b) Only II 
(c) Only III 
(d) Only I and II 
(e) All I, II and III 
 

Solutions 
 
Solutions (1-4):  

 
 
S1. Ans.(b) 
S2. Ans.(e) 
S3. Ans.(e) 
S4. Ans.(e) 
 
Solutions (5-8): 
Final Arrangement: 

 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
http://www.bankersadda.com/
https://applinknew.adda247.com/d/2QGUSmNnAg
https://applink.adda247.com/d/NfnIYXDZVq


 
 

12     www.bankersadda.com                                         |                               Test Prime 

 

 

S5. Ans.(b) 

S6. Ans.(d) 

S7. Ans.(e) 

S8. Ans.(d) 

 

Solutions (9-13): Final Arrangement: 

 
 

S9. Ans.(c) 

S10. Ans.(b) 

S11. Ans.(e) 

 

S12. Ans.(a) 

Sol. Except B, all the other persons sit on the outer table. 

 

S13. Ans.(c) 

 

Solutions (14-19): 

 
 

S14. Ans.(b) 

S15. Ans.(d) 

S16. Ans.(e) 

 

S17. Ans.(a) 

Sol. Two persons gap between all options except option (a) 

 

S18. Ans.(c) 
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Solutions (19-21): 

Final Arrangement: 

 
 

S19. Ans.(b)  

Sol. Except B, all the other persons have even number of chocolates. 

 

S20. Ans.(e)  

Sol. Sum of the numer of chocolates S+B+C have is 37+25+34= 96 

 

S21. Ans.(c)  

Sol. P is related to C, logic here is first person sits immediately to the right of the one who sits opposite 

to second person. 

 

Solutions (22-25): 

Final Arrangement is here: 

 
S22. Ans.(d) 

 

S23. Ans.(e) 

 

S24. Ans.(b) 

Sol. 25-6=19 

 

S25. Ans.(a) 

 

Solutions (26-30): 

Final Arrangement is here: 
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S26. Ans.(b) 

S27. Ans.(d) 

S28. Ans.(e) 

S29. Ans.(d) 

S30. Ans.(e) 

 

Solutions (31-35): 

Final Arrangement is here: 

 
 

S31. Ans.(b) 

S32. Ans.(c) 

 

S33. Ans.(d) 

Sol. Except F and H, both the persons in each pair face opposite Solution. 

 

S34. Ans.(e) 

S35. Ans.(c) 

 

S36. Ans.(b) 

Sol. Final Arrangement is here: 

 
 

S37. Ans.(e) 

Sol. Final Arrangement is here: 
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S38. Ans.(c) 

Sol. Final Arrangement is here: 

 

 

S39. Ans.(b) 

Sol. Final Arrangement is here: 

 

Except G, all the others sit on the middle of the sides of table. 

 

S40. Ans.(d) 

Sol. Final Arrangement is here: 

 

 

S41. Ans.(c) 

Sol. Final Arrangement is here: 
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S42. Ans.(c) 

Sol. Final Arrangement is here: 

 
 

S43. Ans.(d) 

Sol. Final Arrangement is here: 

 
 

S44. Ans.(e) 

Sol. Final Arrangement is here: 
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